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STD: XI ONE MARK TEST -8 " Lesson: 10
Marks: 30 / Time: 45 Min. CHEMISTRY

Choose the correct answer.
1. Assertion: Oxygen molecule is p’uamﬂgnetlc

Reason: It has two unpaired clectron in its bonding molecular orbital
a) both assertion and rcason arc true and reason is the correct explanation of assertion
b) both assertion and rcason are true but reason is not the correct explanation of assertion
¢) assertion is true but rcason is false
d) Both assertion and reason are lalsc
9. Which of the following has to sce-saw shape?

a) PCls b) 10,17y ¢)' SOl dy ClOs*
3. In which of the following compounds does the central atom obey the octet rule?
a) XeFa b) AICI3 ¢) SFy d) SCla
4. Which of these represents the cotrect order of their increasing bond order.
L a) C2<Cr<02r <Oy b) G < Cr' < Ot < O
Q) 02r <0, <CF <Gy ‘ d) 0 < <0<y >
5. The structure of XeOF4 is ‘
a) tetrahedral b) squale pyramldal ¢) square planner d) octahedral
6. If XeF», XeF4 and XeFe, the number of lone pair of electrons on Xe are respectively.
a)2,3,1 SORSERR il v ‘ ) 4,1,2 d)3,2,1
. 7. The correct order of O-O bond length in hydrogen peroxide, ozone and oxygen is
a) H202> 03> Oz b) 02> 03> H202 s c) 02> HzOz > 03 d) O3> 02> H202
8. The percentage of s-character of the hybrid orbltals m methane, ethane, ethene and ethyne are respectively
a) 25,25, 33.3,50 b) 50, 50 33.3; 250 c) 50 238 33 3,50 d) 50, 25, 25. 50
9. Number of lone pair (s) in XeOFs is /are | : ‘f‘ e _
a0 b)) 1 A TR ‘}”c) 2“ S dy3
10. Which of the following is electron deﬁ01ent‘7 i i ". il
a) PH3 ¢ b) (CH3)2 MG c) BH3 L) d) NH;
11: Pick out the molecule which has zero dipole moment g i :
* a) NH3 {b)H20 T , c) BC13 ‘ e d) SOz

12. When one s and three p orbitals hybr1d1se i
a) four equlvalent orbitals at 90° to each other will be formed
b) four equivalent orbitals at 109° 28’ to each other will be formed
c) four equivalent orbitals, that are lymg the same plane w111 be formed
| d) none of these ; A
13. Which of the following compounds is paramagnetlc‘7
~a)CO - B)NO = ‘i | c) 02 'l e d) O3
14. Pick out the incorrect statement from the following '
a) sp> hybrid orbitals are equivalent and are at an angle of 109°28’ with each other
" b) dsp? hybrid orbitals are equivalent and bond angle between any two of them is 90°
c) All five sp>d hybrid orbitals are not equivalent Out of these five sp’d hybrld orbitals, three are at an
angle of 120°, remaining two are perpendlcular to the plane contammg the other three

; d) none of these
'15. The structure of IF7 is

a) square pyramidal  b) trigonal bipyramidal  c) octahedral A d) pentagonal bipyramidal
16. According to VSEPR theory, the repulsion between different parts of electrons obeys the order
a)lp—lp>bp-bp>Lp-bp b)bp bp>bp—1p>lp-b.p

c)lp-Llp> bp-1lp> b.p —-bp SR id) b_.p bp >lp=lp>bp-1lp
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17. Bond order of a specics is 2.5 and the number of electrons in its bonding molecular orbital is for med to b
The no. of electrons in its antibonding molecular orbital is

a) three b) four ¢) 7ero
18. Boud order of Os, 02", O3 and 02" is in order
2) 02" < 0% <0, <0y 1) 0,2 <0y <0y, < 0O,
¢) 02! <0< 0y < O d) 05, < 0;' < 05 < O
9. CaO and NaCl have the same crystal strueture and approximately the same radii. If U is the lattice energy of
NaCl, the approximate lattice energy of CaO is
U b) 2U ¢) U2
20. Which of the following molecules has trigonal planar geomeltry?
a) 11 b) PCla ¢) NIy d) By

21. Some of the {ollowing properties ol two specics, NO1 and HO' are deseribed below, Which one of them is
correet?

d) cannot be calculated form the given information

d)y4u

a) dissimilar in hybridisation for the central atom with different structure
b) isostructural with satie hybridisation for the Cenlral atom

¢) difTerent hybridiration lm the central atom with same structure

d) none of these

22. Which of the following compounds, the one having a lincar structure is
a) NH; ‘ b) CHq ‘ ¢) Calz d) H20
23, According to Valence bond thcoxy, a bond bClWLul lwo atoms is formed when
a) fully filled atomic orbitals overlap

‘ b) half-filled atomic orbitals overlap
¢) non-bonding atomic orbitals over lnp

: (l) empty atomic orbitals overlap
24. Which of the following conditions is not cmrect fol resonating structures?
a) the contributing structure must have the same number of unpaired electrons
-b) the contributing structures should have slmlla "eherg,les
c) the resonance hybrid should have h1gher energy'

than any of the contrlbutmg structure
d) none of these ‘ [y

25. Among the followmg, the maxnnum covalent characte1 1s shown by the compound
a) FeCl, S B) SnCI il wc) A1C13 SN d) MgCle
26. Non-zero dipole moment is shiown. by fushii et e iy b L s
a) CO> b) p-— d1chlorobenzene o c) c'ubon tetlachlorlde d) water
27. Which of the following molecular Spec1es has unpalred electrons(s)‘?
- a) N2 'b)Fa s

bl e gl‘ C) Oz o "\ ‘ i d) 022'
28. Which one of the following compounds has Sp2 hybr1d17at10n‘7 5
- a) COa b) SO, e c)NOz N -d) CO

29.In CIF3, NF; and BF; molecules the chlonne mtrogen and boron 'ltoms are
-a) sp hybridised R i b) sp>, sp® and sp? respectlvely
¢) sp? hybridised RO o

fasy ~d)sp’d, ,sp and sp? hybridised respectively
30. The bond in the formation of fluorine molecule will be : ‘

a) Due to.s — s overlapping

b). Due tos—p overlappmg
c) Due to p — p overlapping

d) Due to hybrldlzanon
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